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0,75 .NH;(aq) + H 20 (1) !:+ NH3(aq) + H30+(aq)

0,50 JcLUlI ~~ ~}I J-,~I ç.\...::.jJ

0,25 + 0,50 7:::02,51.10-4 ~ ~..;bJ1

0,25 ~ ~ J~I 1:(1

0,5 NH;(aq) + HO'(aq) ~ NH3(aq) + H2O(I)

2 x 0,25 CA = 2,4.10-2 mol.L-1 \ ~..;bJ1

2 x 0,25 n(NH;) = 4,8.10-2mol \ ~I
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xmax = 10-2 mol \ ~..;bJ10,25 + 0,50

0,25 + 0,50
4 2.X .F

Llt= 3 86.10 s \ LÜ= max Il J..,... .':'1
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T = 10-5 S

À.= 3,40.10-3 m !

Llt=3.1O-2s

d = 22,5 m
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c ~ 1,20.10-10F ~ ~Y=J'
0,25 +0,50
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ç=2,16.1O-9J ~ ~Y=J\

h=38% r-I~I ~ ~..,,1.yl~
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0,75 dv G = F- f ~LU1\ ~.bL..J1ü~J
dt m

0,25 + 0,50
2 -2

a G = m.s vG(t)=2t

f= 116 N ~ ~.;lJ1
2 x 0,25

0,25 + 0,50
AB = 225m ~ ~Y=JI

0,50 d2y
dt 2 = -g

~Y=J'
d2x
-=0
dt2

.JL J\ ~bt .)4-:!J
1,25

y=f(x)

2 x 0,25
-1 xG

VD ~ 28m.s ~ VD =-
1.cos a

tF ~ 0,49s ~ ~.;lJ12 x 0,25
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